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Nwms: Jara: Onenka:
I15x3,4+5+3,6= 5,3+4,4—-2%x3,8=

2—-2,3x2,1-6,5= 12x2,8+2+6,9 =

2,4+3,7x5,5+2, 1= 24x2,1+-6—-5,4=

5,5-3,1+6,3x3,6= 5,6 -6,9%x6,6+6,7=

20x6,8+5+6,3 = 6,2—-4x5,3+2=

www.snowmath.com


https://www.snowmath.com

'@ !!) “ I ‘g YCTBIPC ACCATUYHBIX 3HAKA, ITOPAI0K onepaunﬁ

Nwms: Jara: Onenka:
I15x3,4+=5+3,6=13.8 5,3+4,4-2x3,8=2.1
2—-2,3x2,1-6,5=-933 12x2,8+2+6,9 =237
2,4+3,7x55+2,1=2485 24x2,1+6—-5,4=3
5,5-3,1+6,3x3,6=25.08 5,6 -6,9%x6,6+6,7=-33.24
20x 6,8+5+6,3 =335 6,2 —-4x5,3+2=—-44
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